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Model

Household A

E0

∞∑
t=0

βt

(
log(cAA,t) + aj,tlog(cAB,t) −

n1+νAA,t

1 + νA

)
(1)

PA,tcAA,t + PB,tcAB,t + PA,tbt = PA,t−1Rt−1bt−1 + PA,twA,t nA,t (2)

In real terms:

cAA,t + pB,tcAB,t + bt =
Rt−1
ΠA,t

bt−1 + wA,t nA,t (3)

Euler equation:

1

cAA,t
=

βRt
ΠA,t+1

Et
1

cAA,t+1
(4)

Intratemporal condition:

aj,t
cAB,t

=
1

cAA,t
pB,t (5)

Labor supply:

nνAA,t = wA,t
1

cAA,t
(6)

Bonds are in zero supply:

bt = 0 (7)

Household B

E0

∞∑
t=0

βt

(
log(cBA,t) + aj,tlog(cBB,t) −

n1+νBB,t

1 + νB

)
(8)

PA,tcBA,t + PB,tcBB,t + PA,tb
′
t = PA,t−1Rt−1b

′
t−1 + PB,twB,t nB,t (9)

1



In real terms:

cBA,t + pB,tcBB,t + b′t =
Rt−1
ΠA,t

b′t−1 + pB,twB,t nB,t (10)

Euler equation:

1

cBA,t
=

βRt
ΠA,t+1

Et
1

cBA,t+1
(11)

Intratemporal condition:

aj,t
cBB,t

=
1

cBA,t
pB,t (12)

Labor supply:

nνBB,t = wB,t
aj,t
cBB,t

(13)

Bonds are in zero supply:

b′t = 0 (14)

Production

Technology:

YA,t = nA,t (15)

YB,t = nB,t (16)

Labor demand:

YA,t
nA,t

= wA,t (17)

YB,t
nB,t

= wB,t (18)

Equilibrium

Taylor rule:

Rt = RrRt−1Πt
(1−rR)(rP )

(
1

β

)(1−rR)

εe,t

(19)
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Aggregate inflation:

Πt = Π

YA,t
YA,t+pB,tYB,t

A,t Π

pB,tYB,t
YA,t+pB,tYB,t

B,t (20)

Relative price evolution:

pB,t
pB,t−1

=
ΠB,t

ΠA,t
(21)

Market clearing:

cAA,t + cBA,t = YA,t (22)

cAB,t + cBB,t = YB,t (23)
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